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QUESTION 1

Which set of general criteria should the cloud architect consider when selecting a cloud management platform?
A. Multi-tenancy, API version, and cross-platform awareness

B. Hypervisor, hybrid cloud capabilities, and authentication

C. Geographic region, networked storage, and Internet access

D. Network storage, operating system drivers, and update services

Correct Answer: B

QUESTION 2

An organization plans to deploy a spine/leaf network topology to support a cloud design. Leaf switches will use layer-3
protocols to communicate with the spine switches. Hosts will each connect to two leaf switches using layer-2 protocols.

Which technology must be enabled between the host and leaf switches to provide the maximum throughput for a single
data stream?

A. Generic Network Virtualization Encapsulation
B. Spanning Tree Protocol

C. Equal-Cost Multi-Path Routing

D. Multi-Chassis Aggregation

Correct Answer: A

QUESTION 3
What are general design considerations for inter-cloud links?
A. Internet connection, network service provider adjacent to the cloud provider, and application behavior

B. Router and load balancer session synchronization, Internet connection, and network service provideradjacent to the
cloud provider

C. Application behavior, router and load balancer session synchronization, and Internet connection

D. Network service provider adjacent to the cloud provider, application behavior, and router and load balancersession
synchronization

Correct Answer: B

QUESTION 4

Latest E20-020 Dumps | E20-020 Practice Test | E20-020 Braindumps 2/3


https://www.passapply.com/e20-020.html
https://www.passapply.com/e20-020.html
https://www.passapply.com/e20-020.html

VCE & PDF https://lwww.passapply.com/e20-020.htm|
2024 Latest passapply E20-020 PDF and VCE dumps Download
PassApply.com

An organization plans to build a cloud using some of the existing data center infrastructure. Specifically, they want to
use the existing FC storage infrastructure to support cloud hosts. However, they want to logically separate the cloud
storage traffic from the existing data center storage traffic within this infrastructure. Which mechanism can be used to
meet this requirement?

A. MPIO

B. VLAN

C. VSAN

D. Masking

Correct Answer: D

QUESTION 5

What is a challenge that is unique to hybrid cloud deployments for authentication and authorization systems?
A. Maintaining administrative user credential security

B. Additional requirements for single sign-on capabilities

C. Additional costs of scaling authentication server management

D. Maintaining authentication availability during an inter-cloud link outage

Correct Answer: B
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